
SIMULTANEOUS EQUATIONS (LINEAR)
[ESTIMATED TIME: 75 minutes] GCSE

(+ IGCSE) EXAM QUESTION PRACTICE
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 (a) On the grid, enlarge shape P!"#$%!&'()*!+('$,-!.!(/0!'*/$-*!1234!567
  Label the new shape Q.

(3)

 (b) On the grid, rotate shape P!$%-,89%!:;<!'),'="#&*!(>,8$!$%*!?,#/$!1234!567
  Label the new shape R.

(2)

(Total for Question 4 is 5 marks)

5 Solve the simultaneous equations
y x− =2 6
y x+ =2 0

 Show clear algebraic working.

 x = . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

 y = . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 5 is 3 marks)

1. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

January 2013, 3H Q5:  3 Marks

7
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7 Showing clear algebraic working, solve the simultaneous equations

3 2 1
2 5

a b
a b

+ =
+ =

a = . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

b = . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 7 is 3 marks)

8 Express 300 as a product of its prime factors.

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 8 is 3 marks)

2. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2012, 4H Q7:  3 Marks

Questions compiled by:
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3. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2008, 4H Q9: ᬺ 3 Marks
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11 Solve the simultaneous equations

5x + y = 17

x + y = 3

 Show clear algebraic working.

x = .. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

y = .. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 11 is 3 marks)

12 Find an equation of the line that is parallel to the line y = 4 �– 2x and passes through 
the point (3, 7)

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

 (Total for Question 12 is 3 marks)

4. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

January 2016, 4H Q11:  3 Marks
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11 Solve the simultaneous equations
c + 5d = �–13

 4c �– 5d = 48

 Show clear algebraic working.

c = .. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

d = .. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 11 is 3 marks)

12 A stone is thrown vertically upwards from a point O.

 The height above O of the stone t seconds after it was thrown from O is h metres, 
where  h = 17t �– 5t2

 Work out the values of t when the height of the stone above O is 12 metres.
 Show your working clearly.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 12 is 3 marks)

5. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

January 2016, 3HR Q11:  3 Marks
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4 Solve    x + 2y = 3

x – y = 6

 Show clear algebraic working.

x = .. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

y = .. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 4 is 3 marks)

Do NOT write in this space.

6. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

January 2015, 4HR Q4:  3 Marks
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7. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2007, 4H Q6: ᬺ 3 Marks

13

*P44613A01324* Turn over     

12 Solve the simultaneous equations

5y – 4x = 8
 y + x = 7

 Show clear algebraic working.

x = .. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

y = .. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 12 is 3 marks)

4 Simultaneous Equations (Linear):  3 Marks8. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

January 2015, 3H Q12:  3 Marks
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9. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

November 2008, 4H Q15: ᬺ 3 Marks
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10. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

November 2006, 4H Q12:  3 Marks
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11. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

November 2007, 3H Q14:  3 Marks
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14 Solve the simultaneous equations
 8x  –  4y  =  7
12x  –  8y  =  6

 Show clear algebraic working.

x =  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

y =  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 14 is 3 marks)

15 Use algebra to show that the recurring decimal  0 417 139

333
.

• •
=

(Total for Question 15 is 2 marks)

12. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2015, 3HR Q14:  3 Marks
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13. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

November 2010, 3H Q12:  3 Marks
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14. Solve the simultaneous equations

2x – 3y = 3
3x + 6y = 1

 x =  ...............................

 y =  ...............................

15. Jothi bought a car.
 Later, Jothi sold the car for £2125
 He made a loss of 15%.
 Work out the original price of the car.

 £  .................................. Q15

(Total 3 marks)

Q14

(Total 3 marks)

14. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

November 2009, 3H Q14:  3 Marks



Leave
blank

10

11. (a) Solve the simultaneous equations

2x + 3y = 4

6x + 5y = 8

x = .................... y = ....................
(3)

(b) Write down the coordinates of the point of intersection of the two lines whose
equations are

2x + 3y = 4 and

6x + 5y = 8

(..............., ...............)
(1)

*N22125A01020*

Q11

(Total 4 marks)

15. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2005, 4H Q11:  4 Marks
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9 There are 30 apples in a box. 
 The mean weight of these 30 apples is 120 grams.

 There are 10 apples in a bag.
 The mean weight of these 10 apples is 95 grams.

 Work out the mean weight of the 40 apples.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .grams

(Total for Question 9 is 3 marks)

10 Solve   4x + 3y� ��

 3x + 5y� �í��

 Show clear algebraic working.

x  �. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

y  �. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 10 is 4 marks)

16. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

June 2016, 4HR Q10:  4 Marks
Leave
blank

12N17226A

11. (a) Simplify, leaving your answer in index form

(i) 24
) 23

..........................

(ii) 38
* +

,

..........................

(2)

(b) 5x = 1

Find the value of x.

x = ....................

(1)

12. Solve the simultaneous equations

6x – 5y = 13

4x – 3y = 8

x = ...................

y = ....................
Q12

(Total 4 marks)

Q11

(Total 3 marks)

17. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

November 2004, 4H Q12:  4 Marks
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18. [5 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2009, 3H Q11:  5 Marks
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12 Solve the simultaneous equations 4x + 5y = 13
 3x – 2y = 27

 Show clear algebraic working.

x = .. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

y = .. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 12 is 4 marks)

19. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2016, 3H Q12:  4 Marks
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 The area of quadrilateral ABCD is 54 cm2

 (d) Work out the area of quadrilateral PQRS.

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . cm2

(2)

(Total for Question 12 is 8 marks)

13 Solve the simultaneous equations

3x + 4y = 6

 5x + 6y = 11
 Show clear algebraic working.

x =  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

y =  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 13 is 4 marks)

20. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2014, 3HR Q13:  4 Marks
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13 (a) Solve the simultaneous equations

5x + 3y = 9 
7x – 2y = 25

  Show clear algebraic working.

x = . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

y = . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(4)

 (b) P is the point of intersection of the lines with equations 5x + 3y = 9 and 7x – 2y = 25

  Write down the coordinates of P.

( . . . . . . . . . . . . . . . .  ,  . . . . . . . . . . . . . . . .)
(1)

(Total for Question 13 is 5 marks)

14 Jomo invested an amount of money at 4% per annum compound interest.
 At the end of 2 years, the value of his investment was £3380

 How much of the £3380 was interest?

£. . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 14 is 4 marks)

21. [5 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2013, 4HR Q13:  5 Marks
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 The area of triangle PQR is 72 cm2

 (c) Work out the area of triangle ABC.

. . . . . . . . . . . . . . . . . . . . . . . . . . . cm2

(2)

(Total for Question 12 is 7 marks)

13 (a) Solve the simultaneous equations   3x + 5y = 14 
4x + 3y = 4

  Show clear algebraic working.

x  = .. . . . . . . . . . . . . . . . . . . . . . . . . .

y  = .. . . . . . . . . . . . . . . . . . . . . . . . . .

(4)

 (b) Write down the coordinates of the point of intersection of the two lines whose 
equations are 3x + 5y = 14 and 4x + 3y = 4 

(.. . . . . . . . . . . . . . . . . . . . . . . . . . ,  . . . . . . . . . . . . . . . . . . . . . . . . . . .)
(1)

(Total for Question 13 is 5 marks)

22. [5 marks]

Note that these questions are sorted in date order (most recent questions first).

January 2014, 3HR Q13:  5 Marks


